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Thanksgiving Subtraction

Solve the following word problems.

There were 8,500 people at the Thanksgiving
parade. After an hour, 3,400 people left the
parade. How many people are still at the parade?

A farmer had 7,000 pumpkins for Thanksgiving. He
sold 3,658 pumpkins. How many pumpkins does the
farmer have left?

A bakery made 9,507 pies for Thanksgiving. They
sold 7,212 pies. How many pies are left in the
bakery?

A charity provided 7,866 meals for Thanksgiving.
They have already distributed 6,750 meals. How
many meals are left to distribute?

A supermarket had 7,482 turkeys for Thanksgiving.
They sold 5,060 turkeys. How many turkeys are left
in the supermarket?

A school organized a Thanksgiving play and
printed 8,000 tickets. They sold 3,765 tickets. How
many tickets are left?

A shop had 5,846 Thanksgiving frills. They sold
1,846 frills. How many frills are left in the shop?

8 A city had 8,000 Thanksgiving parade tickets. They
sold 6,167 tickets. How many tickets are left?
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